

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd Via Halewood South Africa  
 Company Registration number 1998/001887/07  
 www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200  
 APEX EXTENSION 1 FAX: +27 11 422 5888  
 BENONI 1501  
 PO BOX 2132  
 BENONI 1500  
 SOUTH AFRICA  
 VAT Reg No: 4590177624

BANKING DETAILS:  
 FIRST NATIONAL BANK  
 A/C NO: 62889748368  
 BRANCH CODE: 240129  
 REFERENCE:

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

Printed on: 08/01/2025  
 at: 10:13:16

DELIVER TO:

Halewood - Linbro Park  
 Halewood - Linbro Park  
 4th Ashworth Street  
 Linbro Park  
 Gauteng  
 South Africa

Shipping Instructions:



29360

INVOICE TO: Halewood - Johannesburg  
 Halewood International S.A (Pty) Ltd  
 61 Toronto Street  
 Apex Extension 1  
 Benoni  
 1501

1000167

15966

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HH	1983165		08/01/25	08/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
RSENGV27524PIB	RED SQ VODKA ENERGY NRB 275ML	CS	702	0	HH	230.89	162,084.57
RSRELOADCN250ML	RED SQ RELOAD CAN 250ML	CS	30	0	HH	99.29	2,978.76
RSTEQ27524PIB	RED SQ TEQUILA ENERGY NRB 275ML	CS	37	0	HH	237.21	8,776.78
RSVODKA20012S	RED SQ VODKA 200ML @ 43%	CS	59	0	HH	390.39	23,033.28
SKDP/FRUIT275	SKINNY D PASSIONFRUIT NRB 275ML	CS	78	0	HH	174.47	13,608.56
SKDPEACH	SKINNY D PEACH PUNCH NRB 275ML	CS	78	0	HH	175.30	13,673.38
SKDSTRAWBERRY	SKINNY D STRAWBERRY SWIRL NRB 275ML	CS	78	0	HH	173.63	13,543.29
WCPOGUES1X750	POGUES 750ML @ 43%	EA	0	36	HH	206.08	7,419.05
ORIMARG30012S	ORIGINAL ICE MARGARITA POUCH 300ML X 12	CS	39	0	HH	116.81	4,555.64
SOMBRSLV750X1	SOMBRERO TEQUILA SILVER 750ML	EA	0	30	HH	193.15	5,794.42
SOMBRSLV750X1	SOMBRERO TEQUILA SILVER 750ML	EA	0	6	HH	193.15	1,158.88
BELGRAVIN750	BELGRAVIA 750ML @ 43%	CS	728	0	HH	652.65	475,126.21
BUFFELBRA750	BUFFELSFONTEINBRANDEWYN 750ML @ 43%	CS	104	0	HH	793.69	82,544.06
BELGINDLEM440ML	BELGRAVIA DRY LEMON CAN 440ML	CS	648	0	HH	269.74	174,788.60
PALLET	GENERAL PURPOSE PALLET	EA	0	30	HH	138.00	4,140.00



# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd v/a Halewood South Africa  
 Company Registration number: 1998/001887/07  
 www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200  
 APEX EXTENSION 1 FAX: +27 11 422 5888  
 BENONI 1501

VAT Reg No: 4590177624

BANKING DETAILS:  
 FIRST NATIONAL BANK  
 A/C NO: 62889748368  
 BRANCH CODE: 240129  
 REFERENCE:

PO BOX 2132  
 BENONI 1500  
 SOUTH AFRICA

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

Printed on: 08/01/2025  
 at: 10:13:16

DELIVER TO:

Halewood - Linbro Park  
 Halewood - Linbro Park  
 4th Ashworth Street  
 Linbro Park  
 Gauteng  
 South Africa

Shipping Instructions:

29360



INVOICE TO: Halewood - Johannesburg  
 Halewood International S.A (Pty) Ltd  
 61 Toronto Street  
 Apex Extension 1  
 Benoni  
 1501

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HH	1983165		08/01/25	08/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
DIVIDERBOARD-DISTRIBUTI ...	DIVIDER BOARDS DISTRIBUTION	EA	0	30	HH	5.22	156.60
PAYMENT TERMS STRICTLY C.O.D. UNLESS CREDIT TERMS HAVE BEEN ARRANGED IN WRITING			2,581	132			

SUB-TOTAL	ZAR	993,382.08
VAT	ZAR	0.00
TOTAL	ZAR	993,382.08

Dear customer, kindly forward a copy of your latest liquor licence to [license\\_renewal@halewood.co.za](mailto:license_renewal@halewood.co.za).  
 Alternately issue a copy to the Halewood sales representative.

# Halewood Delivery Schedule

Driver:  
Truck: Super-Link  
Trailer: No

**\*75373\***

Doc No.: 75373

Truck Tare Kg: 20,000  
Truck GVM Kg: 54,000  
Trailer Tare Kg: 0  
Trailer GVM Kg: 0  
Available Payload Kg: 34,000  
Approx. Load Mass Kg: 25,458

Area	Has	Tot	Pallets	Arrived	
Customer	Ord No.: POS	Qty	Norm	Chep	Left
SCT- SCT Trf - Halewood - Pretoria					
SCT-HL	1983165 <input type="checkbox"/>	2,713			A: ..... L: ..... <b>*19831</b>
Stops: 1	Invoices: 1	2,713	0	0	

Bongani  
0660518316  
HXW221FS

received  
4072  
HALEWOOD WINES AND SPIRITS  
11 JAN 2025

# Halewood Delivery Schedule

# Stock Breakdown

Driver:  
Truck: Super-Link  
Trailer: No

Truck Tare Kg: 20,000  
Truck GVM Kg: 54,000  
Trailer Tare Kg: 0  
Trailer GVM Kg: 0  
Available Payload Kg: 34,000  
Approx. Load Mass Kg: 25,458

**Doc No.: 75373**

Stock Code		Tot Qty	Unit Mass (kg)	Total Mass (kg)
WCPOGUES1X750	POGUES 750ML @ 43%	36		
SOMBR SILV750X1	SOMBRERO TEQUILA SILVER 750	36	1.30	46.80
SKDSTRAWBERRY	SKINNY D STRAWBERRY SWIRL N	78	12.20	951.60
SKDPEACH	SKINNY D PEACH PUNCH NRB 275	78	12.20	951.60
SKDP/FRUIT275	SKINNY D PASSIONFRUIT NRB 275	78		
RSVODKA20012S	RED SQ VODKA 200ML @ 43%	59		
RSEQ27524PIB	RED SQ TEQUILA ENERGY NRB 27	37	12.35	456.95
RSRELOADCN250ML	RED SQ RELOAD CAN 250ML	30	7.75	232.50
RSENGY27524PIB	RED SQ VODKA ENERGY NRB 275	702	12.35	8,669.70
PALLET	GENERAL PURPOSE PALLET	30	1.00	30.00
ORIMARG30012S	ORIGINAL ICE MARGARITA POUCH	39	7.70	300.30
DIVIDERBOARD-DISTRIB	DIVIDER BOARDS DISTRIBUTION	30		
BUFFELBRA750	BUFFELSFONTEIN BRANDEWYN 7	104	7.28	757.12
BELGRAVIN750	BELGRAVIA 750ML @ 43%	728	7.26	5,285.28
BELGINDLEM440ML	BELGRAVIA DRY LEMON CAN 440	648	12.00	7,776.00
		<b>2,713</b>		<b>25,457.85</b>
	Chep Pallets:	0.00	40.00	0.00
	Normal Pallets:	0.00	20.00	0.00
		<b>2,713</b>		<b>25,457.85</b>

HALEWOOD WINES AND SPIRITS  
11 JAN 2025  
ORIGINAL